R AP T T A TR TR 7
(1) dmra ST AR e Wil
e § T ot 3T Bt R |
(2) S ST SR S 5 T W

smEl
(3) T ITAFT TR FAT - ST
I T A RA BT R
(4) seafamim o # Hr sum
aqﬁlﬁ@?ﬁ%mﬁﬁﬁﬁa%shﬁ
T adi g |

(5) e

papew
e
= s w

P et w Rew AR T R
T e Y T IR =
FYA | : AEEE GhA W, IR b

i el TR I 5 FII

3} & I5 wa g ¢ e Hwi |
s T Y g f =g a8 H
fra TR IEE e |
o || : SRl @hE W, IAG B
iy Tl TRe] 3G & AT
S 21. . STaEEif FEATE |

@:

(1) W‘I’W%,%W;WW%"

(2) Fo | T 2, A e I FI R
(3) e VA e A E |
(4) T | 7 I S e @ |

() ¥gaid S

Which one = of the following

statements is not correct ?

(1) The Marginal Propensity to
Consume is higher in case of
poor than in that of rich people.

(2) Marginal Propensity to Consume
is the consumption per unit of

- income.

(3) The Marginal Propensity to
Consume is always positive but
less than one.

(4) In underdeveloped countries,

~the - Marginal Propensity to
Consume tends to be high,
whereas in advanced countries
it tends to be low.

'(5) Question not attempted

Consider the following statements
and select the correct answer using
the given codes :

- Statement | : The ratio of Real Gross

Domestic Product- to Nominal
~Gross Domestic Product gives
- us an idea of how the prices

have moved from the base year

to the current year.

Statement 1l : The ratio of‘Real
Gross Domestic Product to
Nominal Gross Domestic

Product is called GDP deflator.
Codes :

(1) Statement ‘" is true, but
statement ‘I’ is false.
(2) Statement 1 is false, but

statement ‘II' is true.

(3) Both statements ‘I’ and ‘I’ are
true.

(4) Both statements ‘I' and ‘I’ are
false.

(8) Question not attempted
01
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?? SRR atrergareram @1 ¥ Hlh
S 3w 1 grg fwi g H
IR |

- (B) AR % 5193 st 1 v A1

H R wy ¥ fore SARER T
IR TR 3, o 7w A A
Fetor s ) rere 2 |

(C) 3 e St 35 gy R 1 ol T
TF S e wope & w9 A Frepm
AH R, B o St w@ i
&THAT Y g | e B

S A A S el 7

(1) %3 (A) 3R (B) e # |

(2) % (B) 3 (C) = E |

(3) et (A) 3 (C) W E |
(4) (A), (B) 3 (C)&&IE |

(5) eI SR

i <y e e 35 fa o

/A A TAL/E ?

() e Y T T A T

el il T o R g |

(B) ?ﬁ%ﬁ%@aﬁuﬁwmmﬁg% |

maﬂ%‘q’lﬁﬁ‘?ﬁiﬁﬁﬁmiﬁﬂﬁ
< 5T & HH B -

©) <fieft Y e AT T W Ae farg
3y o et fondt ot g T s
<y re @ T B | ‘

1) Syt (A) T E |

) %aa(_s)aﬁT(C)m%

(4) (A), (B) 3N (C)"H‘ﬁm% |
(5) I

£ ‘

atements

Conside : st '
r the followind merCIa|

about credit creation by ¢0™

banks :

(A) By lowering the minimum legal
cash reserves requirements for
commercial banks, the c_entral
bank expands the capacity 10
create credit in the country.

(B) If banks keep excess C@%
reserves to satisfy the derpan_d
for cash of their customers, it lel
increase. the credit ~creation
capacity of banks.

(C) If the public withdraw 2 large
part of the loans advanced by -

... the banks in the form of cash, it

will decrease the credit creation

capacity of banks.
Which of the above statements are

_ correct ?
(1) Only (A) and (B) are correct.

(2) Only (B) and (C) are correct.
(3) Only (A) and (C) are correct.
(4) (A), (B) and (C) are correct.
(5) Question not attempted '

‘Which of the following statement/s

is/are true about the price elasticity

of demand ? ‘

(A) At the middle point. of the
straight line demand curve, price
. elasticity will be equal to one.

(B) Any point which lies above the
middle point on the straight line
demand curve, price elasticity
will be less than unity.

(C) Any point which lies below the
middle point on the straight line
demand curve, price elasticity
will be greater than unity.

(1) Only (A) is true.

(2) Only (B) and (C) are true.

(3) only (A) and (B) are true.

) (A (B) and (C) all are true.

(5) Question not attempted
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5... @vﬁﬁrmaﬁaﬁmﬁ%wﬁﬁw

YA W AR -
(A) Wmm%mmaﬁ
T |

T (B) WB T I B R W+ wmi i

e = e, o dem @
T TER 3T TR Y nferen g |

H‘a"tﬁwgﬁ

(1) 39 (A) TR R |

(2) 9« (B) W1 R |

(3) (M) B)AH T

(4) (A)3 (B) i Tora & |

(5) 3Tgafa we

e ¥ T § B e @ R

J-¥ -

(A) wTfedeT = 9 @ IR B e |
(B) & Rl 3w B | 3okt g T
- e g Rt T g |
SR A ABAA/A TR R/E 7
(1) E(A)ggl |
(2) (B) I B
(3) (A)3f(B)SHi &t & | [ﬁg
(4) T (A) IRTE (B) TR |
(5) SFART T |
. frofafed s w fEr Fifve @ A=
2 Rm e 2l B & wE) I HT A HINT -

| ;3 g A o e |
s R O FRIT AR | |

%o Il - R farg W wferema <t AT
R, Ha U d A l

| guan fermg 72t & |k |

1) o | T B, S e Il AR |

(2) et T R, A e I FAE

(3) oA I TN S A E |

4) o I e Il et srE € |

.o the following stateme
considé concept of inflationary gar;,ts.

about e =% "heent  has
be
(A) ;rhoepounded by Keynes. o0

" " arises when the consumptio,
and investment spending together
ol greater th..an‘ the full employ.
ment gross national product leve|,

Choose the cprrect option :

0 only (A) !s correct.

2)’ only (B) is correct,

3) Both (A) and (B) are correct.

() Both (A) and (B) are incorrect.

(

- (5) Question not attempted

Consider the following statements

regarding median :

(A) Extreme values affect the median.

(B) It is a positional average. It's
value is not determined by each

5;‘7":; -and every observation.
““Which of -the above statement/s

is/are correct ?
(1) Only (A) is correct.

- (2). Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Neither (A) nor (B) is correct.
(5) Question not attempted

Consider the following statements

-and select the correct answer using
“the codes given below :

Statement | : An increase in income
causes an outward shift of the
Indifference curve.

‘Statement || - A point at which the

Marginal Rate of Substitution is
greater than price ratio cannot
be the optimum point.

Codes -

(1) Statement I is true, but
5 Statement 1’ is false.

(2) Statement I is false, but

3) g‘atement I is true.

) BOth statements ‘I’ and ‘I’ are true.

(5) Oth statements ‘I’ and ‘II’ are false.
Question not attempted
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gza;ﬁ:ﬁ:mﬁﬁnmaﬁmﬁw
%mﬁﬁzﬁw@mwmg
A) TR st v oy e o2
& T Sy it & |
(B) S R % fyeitawr ¥ forg e @
- SUR O, S §, AT S SR R
3 R 1 eeriew § |

w®: |

(1) =1 (A) w2 |

(2) %@ (B) w2 |

(3) (A) 3 (B) i wedi Eﬁ
(4) (A) 3tk (B) BRI g |

(5) 3Irgaia g™

fr=fafga sifispam (A) 7 /o (R)
qe Ug e feT T Hel BT ST Hh qat

TR (A) @ SR I 9 6 ety

SR T w6 T Pfved gen %
fauHI S 2 | ‘ -
ROl (R)  : 9N 9 =% w F
faama gfd It 1 & I AR
e fRT ST R |
%l - ' |
(1) (A) @ (R) 3 @ & 7o (R), (A)
 H A AEATE |
(2) (A) @ (R) &1 & €, vy (R),
(A) b1 T T TR |
(3) (AT E, TIR) TR |
(4) (A)W%,WQ(R)W%|

(5) maﬁﬂ'dw

[

Consider the following Statementsf

régarding Budget Deficit and select

the correct answer using codes
given below :

(A) The Government make
borrowings generally with a view
to finance their budget deficits.

(B) Borrowing from public to finance -
budget deficit is, in effect, simply:
a transfer of purchasing power

from the public to ‘the
Government.
Codes :

(1) Only (A) is correct.

(2) Only (B) is correct.
(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.

(5) Question not attempted

_ Read the following Assertion (A) and

Reason (R) and choose the correct

| option using codes given below :
Assertion (A) : The market ‘supply

curve is derived for a fixed
number of firms in the market.

Reason (R) : Market supply curve is
obtained by taking a horizontal
summation of the individual
supply curves of the firms.

Codes :

(1) Both (A) and (R) are true and (R)
is the. correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(3) (A) is true, but (R) is false,

@) (A)is false, but (R) is trye.

(5) Question not attempteq

PSR
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10.

11.

12.

i Br AR 4w o
SETati 1 25 WiOR & qee @y @A
BT, @ % 200 Y Nl e W e
STt BT GO B
(1) T 500 % TR
(2) %300 TR
(3) T 800 %F TR

(4) T 700 TR

(5) ITgaRd A

Ife 25, 29, 25, 32, 24 3 X 1 A

- 27 %, T HITEASHT T Y 99T BT ?

(1) 32
2) 27
(3) 26
@) 25

(5) rgaRa y

e i e e e o
firarr R e 9 g 7 e 1 ITET

(A) W%ﬂmaﬁmﬁ@ﬁﬁﬁ%aﬁ

- ¥d weEdt @, @ € AT *
agfenmfaEigl

(B) it 61w  aREda w1 At ae
i 9% & fafda g a g |

R

(1) et (A) TR 2 |

) Fact (B) T 2 |

3) (A) it (B) ST @R |

@) (A) i (B) 3 T E
(5) A

10.

11.

12

the commercial ban .
Suppgjsected to keep 25 percen :)sf |
f)nl):j oposils as reserves, then With
its i deposits of T 200, the v
g;m;otal created deposits  will

equal to
(1) ¥ 500
(2) %300
(3) 7800

4) 7700
(5) Question not attempted

if mean of 25, 29, 25, 32, 24 and X is

27 then what will be the value of

"median ?

(1) 32
(2) 27
(3) 26

- (4) 25

(5) Question not attempted

Consider the following statements
about individual's demand curve and

- select correct answer using codes

.(A) When any of the ceteris paribus
condition changes, there is a

Movement along the sameé
‘ ® demand curve.
) The ' Ghange in  quantity

.(4) B

demanged means shifts in entiré

demang

(1) on
) o
) B

Y (A) is correct.

"y (B) is correct.

°th (A) and (B) are correct.
°h (A) and (B) are incorrect.
QuestiON not attempted

®)
01

-
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13.

14.

15.

01

T 317
Y gy
st

B 5o e g
2023 % 31, 3 7 SHEE

I 201516 F 24.85 herwrd A
HEHRT 2019-21 T g 7

(1) 12.96 whygre 2) 21.96 wfowma
(3) 14.96 wiyeg (4) 18.96 9fa=rd
(5) 1wia woy |

TS s 39w i 2023-24 F

S8R, WG wwhr % frefafea @

FrHT /et § ¥ B @ wad fewm

I (W2 2 : = v & wefRe

g |

(1) s foRam guer JisHT FE

(2) Tram wfse®E ’

(3) & < i AN — WA
Tmftor arhifessr e

(4) SaTEE FEE ST A

(5) e T

e ¢ | |

(3)qgao,m=raﬁ$mﬂq‘lé1ggoﬁ
A gE Al

7o o Yo% 3T

fereprel I
) T i 0 ot 13 o 3w 35

3 wzpert T STAT € |
(5) IrgaRa R

13.

14.

15.

(2
3

As per multi-dimensional poverty

index progress report 2023 of N|T|
Aayog, the headcount poverty ratio
in the country declined from 24-8.5
percent in 2015-16 to how much in
2019-21 7

(1) 12.96 percent (2) 21.96 percent
(3) 14.96 percent (4) 18.96 percent
(5) Question not attempted

Which of the following key
programmes/initiatives of Government
of India is not related to Sustainable

' Development Goals (SDG) 2 : Zero

Hunger, as per the SDG India Index

" Report 2023-24 ?

PM Kisan Sampada Yojana
Kisan Credit Card

Deen Dayal Antyodaya Yojana —
National  Rural Livelihood

Mission

PM Fasal Bima Yojana

(1)

4)

(5) Question not attempted

Which of the following is not correbt

about invention = of Human
" Development Index ?
(1) Lord  Meghnad Desai s

associated with the invention of
HDL. '
It is @ composite index of 5
social indicators,

The first Human Development
Report was published in 1990.
The Performance . of  each
dimension of HD| g expressed
as a value between 0 and 1
(5) Question not attempted |

(2)
©)
(4)
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16. gfita Sft. <.t 1o ) e 2

(1) IRERER Hhel B Ieare; 3 qataeelid
&7 AT b1 SEH |

(2) R HheT B Searg § yafawiE
&1 qT NTHh Saee) & g 6
TG i T |

(3) HaT HHRHS YHigwfy ymEl |
RER S |

(4) WEw T ¥ gmfRg  ad
FHRIHD TG I ASHT |

(5) 3G A

17. Ffafes o ® fmr At qen
rmﬁaﬁqﬁmqﬁqﬁé

(A) S % A3 W T o9 W A
TR Trareft Yl wem 0 % forg
WA §WR 4 9™ 9Rd (My Bharat)
qicel g R @ |

(B) mﬁﬁaaﬂaﬁaﬁm(ﬁqﬁmm)
UMK T ST 9T ﬁ?:m%anﬂm
AR ST Ea R |

(C) et oW Sa1 wa&ol, Wifeaeh! Ta
FEHN  HEI  HAGE g7
2015-16 4 HERT ST @ |

i fow T 5t 1 I F 5L HE IR

(1) %aet (A) a1 (B) €&l &l & |

' (2) %3 (B) @ (C) G & |

(3) e (A) 7w (C) Wl T € |
@) (&), (B)@I(C)wﬂﬂﬁ%'

(5) I T

16.

17.

- (B) The official

‘

. GDP is calculated by
Gree" Jding environmental deg,
sosts 10 traditional GDP,
Subtracting cost
cnvironmental - degradation 3
depletion of natural res0urgy,
from traditional GDP,
3) Only considering the POSitiyg
environmental impacts.

atl()n

of

,(4) adding all  positive aspecty

related to environmep
upgradation.

(5) Question not attempted

Consider the following statements
and find which statements ar
incorrect :

(A) To provide various employment
related services to the youth of

~ the country on a single platform,
Government of India has
launched My Bharat Portal.
data source on
employment and unemployment
is Periodic Labour Force Survey
(PLFS),

(C) Periodic Labour Force Survey s
conducted by the Ministry o
Statistcs  and  Programme
Implementation since 2015-16.

c:clgeCt the correct answer using
©S given below :

Odes :

g; Omy (A) and (B) are incorrect.

3) o Only (B) and (C) are incorrect.

(4) Only (A) and (C) are incorrect. t

5 ) Q A), (B) and (C) all are incorrect

Question not attempted
01

]
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18.

19.

B

01

TR St % e d P

PR R i

) 98 worify § ey, wowEE

gl?mﬁmaﬁquw

() =% T i, qeat we T
SR Y wiwreren gf & @A |

(iif) 5% Teify § meerard WU A M
TG T A TR |

RS FHT TGN Qg G SW B T

Hifsg | -

EEC: )

(1) et (i) @@ ] |

(2) e (i) @ (jii) T 8 |

(3) haret (i) T (i) T E |

(4) (i), (i) e iy R €

(5) STTARA TH

frfurfea werl T fEr i -

(1) for e S T 3 FRe B R
w3 3 forg i Torfos g
Fura R IEFAE|
ey qrorifes TG gl i e
an & o feelt fog T AmiER-
et T TR A

, Wﬁ-ﬁmﬂﬂﬁﬁﬁﬂ@ﬁ?l

(1) e (N TR

2) %élﬂ(”)“a%'

3) (I)’Q7=|"(||)"3r'ﬁj‘:r&pr%|

() q.eh(|)3ﬁ’(7{7iﬁ(”)-a_§[%l

(5) e

18. Consider the following St2

19.

ft:
the ¢ chael Oakesh®
ontext of Michae rvatism,

(i) Heis in favour of conserV
traditionalism and uniformlty. acr;
continuity in behaviour In politicS-

(i) He looks at new valués value-
based facts and new trends with
a skeptical view.

(i) He tries to carry I¢
value-based tradition In :

Select the correct answer usin

codes. o
[

Codes :

(1) Only (i) is correct.

(2) Only (i) and (iii) are correct.
(3) Only (i) and (iii) are correct.
(4) (i), (i) and (iii) all are correct.
(5) Question not attempted

ry forward the
politicS- :
g the

Consider the following statements of
Leo Strauss about Political Theory :
() Leo Strauss reaffirms the
“importance of classical political
theory to remedying the crisis of
the modern times. :
Strauss does not agree with the
proposition that all political
theory is ideological in nature
mirroring a given socio-
economic interest, for most
political thinkers are motivated
by the possibility of discerning
Fhe pr.inCipIes of the right order
in social existence.

choose the correct answer :

(1) Only (1) is correct, |

(2) Only (Il) is correct, .

(3) Both (1) and (Il) are correct

(4) Neither (1) nor (11} is correct

(5) Question not attempted et

(1)

1615345 o
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21.

22, .

- (3) wm||, @IV
- (5) gTRa A

(i) < g e e & s e i S

: e T TN A §T Tl TR AT |

HIRTT :

I~ W@m‘?mmmél

I, TETAATAFIGEE Y

I, TSI TH A |

IV. T SRR, IS 3R o 61
RfHd I 3 |

ST A A BN A U @ A foepea:

wEfRaE ?

(1) 1,1, &y v

(2) Saad |, [l

(4) Hae | qen il

S Siei % W % Hey § fafiea
FoH R e hifdre - |
(i) S &g = gh ReR e &
T HET T % g o
(i) S =g 3 WwE H - ‘reEeer
frpte % 1T w Fipa wftrerd
wanefafean | - |

R TFfT 6 T 37N gEd 3Ry
SIS §IY = Wife wfera Bt |

E T

(1) e (i) (i) qd g1 |
(2) sae (i) 7o (jii) T & | '

(3) et (jii) FET 2 |

(4) (i), (ii) 7 (jii) Tft wd & |

(5) i e
frerifeed # @ fope fagm 3 “eTel=HTAS
et ey fresfa fen B, ek

Sty wreTé RS B Wi ST ToEif

. |
¥ e F g agRmFme
(1)'ﬁa§iﬁﬁ (2)=ﬂﬁ?ﬁﬁR$HFl I

|

(3) @ fare (4) S i
(5) IgaRa T

10

21,

22,

i

- (iii)

he following statements

Aerl .
conside! . o state :
regag:;r; is a form_ of universa|
1o

concrete for
Il. Statelute consciousness, "
abs0"s an End-in-itself,
S is the. coherent wholg
rights, freedom and welfare,
which of the above statements g
closely associated with Hegal ?
(1 & ”i ll|| ?Ingnlcylll

Only 1,
g; Onl;l l, Il and IV

4) Only l'and lll
55; Question not attempted

of

Il.
IV.

Consider the following statements

“regarding sovereignty of Jean Bodin :
~ (i) - Jean Bodin’s basic thesis is that

a central authority should wield
unlimited power.
Jean = Bodin advocated a
centralized authority to steer
France away from ‘disorder.
Jean Bodin accepted that the
laws of God and nature on the
one hand, and the customary
laws of the land on the other,
S would limit the sovereign.

elect the correct answer using the

. Codes.

Codes :

(1) Only (iy and (ii are corfect.
8; 8“')’ (i) and 81?) are correct.
@ G nly (iii) is correct.

(i), (i) and (jii) all are correct.

(5) Que

. stion not attempted

W .
ha';"d;‘ mMong the following scholars
analys-v,elol?ed the ‘Critical discourse
:: » @lms to balance linguistic

Wlt H r
and politioe 2 the analysis of powe

Richarg .Rorty
Norman
@ Carl g
(5) JQacqu_es Derrida
€stion not attempted
ot
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24,

25.

26.

01

(3) DG 145 (1) &N

(4) 1<% 145 (1) &

(5) argard ¥

Srffaa & @ fpaa WfFT T 3UR
‘W’HFIT%?

(1) gt (@ ng i
('3) IC | 4)
(5) Irgata I

e ¥ 4 fre “gRfmd”
P R e R 2 7
(1) ey
(2) 35
() I=w
(4) aﬁ@@;
(5) 3rFaia wey
ﬁ.%ﬁ ‘}_-ﬁ frg e ¥ W@ 6
E"a“'“mﬁﬁmugqﬁ%qamaaf%
R TE et sreq R 5 SRR
1 Fatee Ty & e € o o w0F @
e S =y 2 :
(1) sft.es. fen
(2) TEwe Hrgeem
(3) %.4. w8 Eﬁé
(4) ST 1Y
(5)! STFARA S
§ Gt RTe % ugat § e
AT TN F AT B HEER % ATUR
w 3E% T A W B WE W 5 Y
ﬁaﬁm@m%,a’raaﬁammmw
w%mﬁﬁmm%m‘
3 frg ogede & T fwita B
27 |
(1) sg=de 317 (1)
(2), FT=% 317 (2)

11

23.

24,

25.

26.

President should be electé

_investigate the

(3) Rowe

Who among the followind 'Sc?ty,,?

has given the notion of "equall 2

(1) Alex Honneth

(2) Etienne Balibar

(3) Chantal Mouffe

(4) Ernesto Laclau

(5) Question not attempted

Who among the followind members
has moved an amendment durlﬂg
the discussion on the office of 1 et
Vice-President in the Constituent

in that the ‘Vice-
Assembly of India, d at the

same time and in same manner as
President’ ?

(1) B.L. Mitter

(2) Muhammad Saadulla
(3) K.T. Shah

(4) Jai Narayan Vyas

(5) Question not attempted

When the Supreme Court receives a
reference from the President to
removal of the
chairman of any public service
commission from his office on the
ground of  misbehavior, the
procedure for inquiry for this purpose
by the Supreme Court is prescribed
under which Article  of the
Constitution of India ?

(1) Article 317 (1)

(2) Article 317 (2)

(3) Article 145 (1) (j)

-~ (4) Atticle 145 (1) (f)

(5) Question not attempted

Who among the following consid “
. ) e
‘might’ as the basis of power 7 e

(1) Trotsky (2) Lord Acton

_ (4) Bierstedt
(5) Question not attempteq
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of the fOIIOWin '

e which
§ : cons «declared by or y
o T # feafafes § @ fre inol e 4 Nder
termin® parliament’ ha
: . S beg
) ﬁférm;‘%ﬁ‘ﬂ'-r afﬁ‘f?;n U 9T * law mzd n the Article 49 of thn
.~ feam 3431'333 49 T 3r=.wfg foeann |nsert6 . ' ) €
™ ? ‘ Constitutlon of India % .
. _ ih (2) 24
(1) 74 (2) 243 (1) ZZ"" (4) 44t
- (3)y 424 (4) 449 Eg; Question not attempted
(5) I e | A
o8 N N \ 3 frg | 28, Amendment of which of the.follnowing
o 3 e 3 forw sz 3 2 Articles/Parts of thc? anstltutlon of
3 ‘ . dia requires ratification by the
India req
e i Ry g (998 % Yo W Y "
N legislatures of not less than one-half
F T T TFAT AR T % ufRE | of the states, in addition to a special
Td HagH HH a7 T H A-fugrs majority (a majority of the total
EE’W)'% i, 9 | HH 3l T % membership of each house of
- Toursat g sigEwe Parliament and a majority of two-
B ? | . thirds of the members of the house
(i) ITI=BT279A _a ~ present and voting) in both houses
i) mvim ey e of Parliament ? |
(iif) 3TF=ST 162 (i) Article 279A
) .1 A ?I)) 2hapter V of Part VI
TS ‘ - () Article 162
gt forpea o | (iv) Article 71 _
(1) Faa @, (ii) afk (iii) Choose the correct option :
(2) 3 (i), (i) 3R (iv) g; Only (i), (ii) and (ii)
(@)% (i), (ii) 3 (iv) ] g“:y (i), (iii) and (iv)
@) (i), (i), (iii) 3 (iv) @ (i)"zi;.'),(._(.u) and (iv)
(5) I e 5) Quee ) and ()
- | | (%) Question not attempted
29, Frerfrfed & & % a1 s & WA | 29, Whigy, o -
T 51A T M 5 5w ARHF | by the Artt'he following is not referred
Afard i T aaemn T R 7 gf Indig |Clse 21?,,2‘;?; C°”§ﬂtt”“?f
Very o o
(1) ¥ &9 % 9fe g (1)erl3égltIZen of India ? Y ’
(2) Tg-TH  Ffd g=m (2) Re:Dect towards National Flag
(3) r[g-fﬁﬁa’:gﬁfw —‘ (3) Anthpeenc]t towards Natlonal
(4), 3 3w et < (4) R::g:ct towards National Song
(5) T S ' C°"Stit0t- towards the
) : ) Quegy tion and its ideals
= ‘ 'on not attempted
' : 01
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30.

o

T R smr % ek § Pt
B T forem Hifr -

B (i) : Wl wfyue ¥ FTRC 243 9

% ity, kel @ R
feufe i wrften g TouTe SN
Tt s =y e frm ST R |

HUA (i) : o i Tew GRS AT

Rl w2 i U0 TER

gmﬁsﬁﬁm%mwm

|

SR A Y BR a/A s ad B/ 7

(1) e (i)

(2) Haa (ii)

() (i) 3R (ii) g CpEEE

(4) T (i) AR (i)

(5) IFFIRA TR |

w%ngqﬁraﬁﬁahqm%ahﬁ

fa=fead F = =1/2 FYA & T

/27 s

() dfeE % IR, WRa % R
mmm@mﬂ%mﬁa
1 Reefi aAiftre g e € |

(ii) e 3 A et & Tt aEt %
for T T TTH A R |

(i) Frateet A I w1 AR
e 3 AT TEAR T H |
a1 9 W B W@ gy, @Y
Torfifes g@ w1 fem o
78T g |

wé Rrepea I :

(1) Fae (i) 3 (i)

2) Faa (i) ST (i)

(3) Fae (i) 3 (i)

@) (i), (i) 3 (i)

(5) Frgaid ¥

01

13

30. Consider the following statements

31.

- (i)

about the

Commission’ : _

Statement (i) : Under Article 243 I of
the Constitution of India, a Finance
Commission is constituted by the
Governor- to review the financial
position of Municipalities.

Statement (ji) : The Finance Commission
makes its recommendations to the
“state government, and the state
government presents  these
recommendations before Parliament.

Which of the above statement/s

is/are correct ?

(1) (i) only

‘State Finance

(2) (i) only

(3) Both (i) and (ii)
(4) Neither (i) nor (ii)
(5) Question not attempted

Which of the following statement/s
is/are not correct about the election

~ process of the President of India ?

As per the Constitution, the
Secretary General, Lok Sabhais
only appointed as the Returning
Officer, by the Election
Commission of India.

The ballot papers for elected
members of both Houses of the
Parliament are pink in colour.
Electors are at liberty to vote or
not to vote at the Presidential
election as per their own free will
and choice soO political parties-
cannot issue any direction or
whip. '

Choose the correct option :

i) and (ii) only

(1) () and (i)
() (ii) and (iii) only
(3) (i) and (iii) only
4) () (ii) and (iii)

(5) Question not attempted |

(i)

(i)

nrl
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52) el 1 el & P i

g () gl ()
(i) THI-TREE WO (a) 1974

(i) YRa & W R/ (b) 1979

33.

&

(i) drEfiet e (c) 1954

(iv) 3teet fogrd At (d) 1955
IR MR EICRS K|
= AT

i fom T R T TEEAT F FE IR A

© T I :

0 @) @) (v) ...
(1) (¢) @) (d) (b) [E&8s
2) (d) (@) (c) (b) :
3) (c) (b) (d) (a)

@) (¢) (b) (a) (d)
(5) FRRG S

T & ° guEEE g Wi i Jega

T IET ¥ g=RE = S ®

femm hifTe, 58 9T % SR ¢

(1) weide st 4850 HUS T I HT
TR % T Ty W g
™ |

(Il) ¥RA-wTedld §Fq SIMR EHEd
(ThdT) o fommued fomg W EEER
™

(1if) et 3 dians 3 S o WA

| werd TedvAe diE e
(oo st merdE A
TR (THUHT) & HeA JeTh—5-
Yoo queie T gEar R T |

T IR BT I HI :

(1) e () w& (1) @& € |

(2) Faw (1) (1) g@# |
(3) Faa (1) wa (1) TE & |
@) (1), ()wE uy @ g |

(5) A

14

32.

33.

_| with the List-Il :

Match List st Listl

| (Incidents) (Year)

() Afro-Asian (@) 1974
Conference

(i) India’s first nuclear (b) 1979
test

(iii) Panchsheel (c) 1954
Declaration

(iv) Atal Bihari Vaj‘payee’s (d) 1955
vist to China as
External Affairs Minister
Choose the correct answer with the
help of codes given below :

(i) (i) (i) (iv)

(1) (c) (@ (d) (b)

(2) (d) (@ (c) (b)
3) (¢ (b (@) (3

~ (4) (c) (b) (a) (d)

(5) Question not attempted
Consider the following statements
regarding recent state visit of Prime
Minister Narendra Modi to Maldives,

- "during this visit :
(I) Agreement for an LOC of INR

4850 crores to Maldives is
signed.
(1) Terms of reference of the India -

Maldives free trade agreement
(FTA) is signed.

(1) Network-to-Network Agreement

between India’s NCPI
International Payments Limited
(NIPL) and Maldives Monetary
Authority (MMA) on UPI in
Maldives is signed.

Choose the correct answer :
(1) Only (1) and (i1) are correct.
(2) Only (1) and (IN) are correct.
(3) Only (11 and (Il are correct.
) (1), (11) and (111) are correct.
Question not attempted

L B

4
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3
bR W R o o s

35.

01

TSR 3 Sy 3 i 3 @ @9 @

T T & A e i 2 7

(1) @ v iy wimam (FAO) — afien
ﬁ'm-sﬁﬁﬂﬁmaﬁf(ﬂ

(2), a g wuqr wmaT (WIPO) -
T, Rgerdte

(3) g  wmiw  Sgeww  @ed
(ICAQ) - wiRws, wrer

(4) TP Wt dmea (IMO) —

(5) rgaia A

i1 w1 -1 & gAfera s e gl
H= few T wE = mﬁﬂaﬂ% g IW

o |

g (g Al (W)EE

G731 %7 777

A. AT i, WRA-<N

B, fzwade . Wia-ddcw

C. wpata i, Wd-Hficrht

D. wtfad iv. YRA-ATedE
A B C D

(1) @i i i v

@) i i v

(3 @i i v i

@) i i i v

(6) FFia T

15

34.

35.

Which among the foIIowihg pairs is
not correctly matched regarding UN

specialized agencies and their

headquarters ?

(1) The Food and Agriculture
Organization (FAO) -
Washington DC, USA

(2) World Intellectual  Property
Organization (WIPO) — Geneva,
Switzerland

(3) International  Civil  Aviation

Organization (ICAO) — Montreal,
Canada

(4) International Maritime
Organization (IMO) — London,
United Kingdom

(5) Questlon not attempted

Match List-l with List-ll and select

'the correct answer by using the”
- codes given below the lists : ’

 List-l (Name of
Joint Military List-1l (Countries)
~ Exercise) '
A. SLINEX i. India-China
B. HANDIN ii. India-
HAND Seychelles
C. EKUVERIN iii. India-Sri Lanka
D. LAMITIYE iv. India-Maldives
Codes :
A B C D
(1) i i v
(2) i i v
@ i 1 v
(4) i ii i v
(5) Question not attempted
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36. e TSI Y & s sy » e

37.

38. e a1 “amror e & wer gan WA
(1) Ht.e=. g
(2) H.s=y, Ty
(3) FwIm
(4) TeEw @ I

(5) o s

fefifen 3 & feg of § wrefle iy
Y g gem § Wy vE PEe
(UNMISS) & &1 ey wrw fopam 7

(1) 2008

(2) 2010

(3) 2012

(4) 2014

(5) IFFad e

39.

|

16

| 36.
37.

38.

|
|
,’ 39,
|
|

le'ded SOCiOlogy into tw
Wh“;r gections SYStematic n°
gea:]eral SOCiOlOgy, and HiSthiQ:‘

“sociology 7

1) Karl Mannheim
(2) Karl MarX
(3) Karl Popper

(4) Karl Polanyi
(5) Question not attempted

in which of his book has ‘Robgy

Bierstedt', enlisted characteristicg of

Sociology ?

(1) The Social Order

(2) American Sociological Theory

(3) Power and Progress : Essays o
Sociological Theory

(4) Cultural Sciences

(5) Question not attempted

Who said “Society is a cooperation,
Crossed by conflict” ?

(1) CH. Cooley

@ cw. mis

.(3) Max Weber
(4) Maciyer g Page
() Question, not attempted

F . ¢
lnrc?.m Which of the following year
n 4N Peacekeeping Forces were
oVed in the United Nations

Mlssion in South Sudan (UNMISS)?
(1) 2005 .

(2) 2019
(3) 2012
(4) 2014

5 ,
©) QUeStlon not attempted
01
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/ | |
(40, STRufieii % 4w gefla FO F R

41.

42.

43.

01

R 3R TR’ i araeronait w1 ST
[EEERE

(1) IR fousts
(3) 3. TwAN
(5) srgaia s

(2) sh.wa. His
(4) 3w, fed

7 § @ B T o % T
e S oeis T 7

(1) fu. Sfe  (2) & /&

(3) IN. SREEH  (4) T A

(5) TG A

ﬁ%ﬂﬁmﬂéﬁ#éﬁmﬁ?
(1) TTehie TRaH  (2) ﬁm@réﬁm

(3) GrFtfRE  (4) F A
(5) FIIRA ST

e &t Seafar “sremfer frgr” fore
gitrarfea foam ?

(1) Tt (2) B

(3) ATHhITE (4) A P
(5) I S :
ﬁﬁ%{iﬁﬁﬁﬁﬂﬂﬁwwﬁ%ﬁqﬁ%?
(1) SEdTege  — SR

(2) SR AT — wfaffores g
(3) Te.E. fifém - S g
(4) AEATE — Row uyg

(5) AR

42.

40.

M.

43.

I 44,

Who used the concepts of ‘Ascribed
and Achieved’ to refer to the
distinction of statuses ?

(1) R. Bierstedt

(2) G.H.Mead

(3) E. Goffman

(4) R.Linton

(5) Question not attempted

Who among the following is not the

“supporter of Cyclical Theory of

Social Change ?

(1) P.A. Sorokin

(2) V. Pareto

(3) R. Dahrendorf

(4) A.Toynbee

(5) Question not attempted

Who is associated with the concept
of Class Consciousness ?

(1) Talcott Parsons

(2) Kingsley Davis

(3) Anthony Giddens

(4) Karl Marx

(5) Question not attempted

Who had propounded the “Racial
theory” of origin of caste ?

(1) Risley

(2) Senart

~ (3) Nesfield

(4) Hutton
(5) Question not attempted

Which of the following pair is not
matched correctly ?

(1) Charles Ellwood - Vertical
‘ Group

(2) Dwight Sanderson — Delegate
' Group

(3) F.H. Giddings — Genetic
Group

(4) Lester Ward — Voluntary
Group

(5) kQuestion not attempted
: o
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45.

47.

48.

49.

ﬁﬁm%mqﬂwﬁnﬁaﬁ%m
w1 Irierht ety i e g o
(1) St Swa@ -

(2) =i 6t srgmetar

(3) wirget Wrepferh gumd

(4) & 1 Hieao

(5) JTgaRa s

uwﬁanmaﬁﬁm foper =d =g
EEU
(1) 1962

(2) 1974
(3) 1978 (4) 1988 E‘i
(5) 3T R '

e fa =t ﬁﬁ@ﬁaﬁ %Wﬁ
T AT 8 7 ‘

(1) Ba18 (2)ﬁ:4?lm19

(3) AT 4 (4) femmr 1

(5) TgaRa R
a9 gam O % R S
fiame #t afi ftres Sl SHET ST
=y, 3 germa fre T 7

(1) TR (2 NE T
(3) T shfe (4) FT

(5) ITIAA A

18

45.

46.

47.

48.

49,

(1
(2
(3) Assumllatlomst
(
(

“In which year

wyhich dimension of commung,

wasn of Suggested by T.K. Oomm ey

) gecessionist
) Retreatist

4) Non-welfarist
5) Question not attempted

Which factor is not listed by Giljy
as primarily responsible for poverty 9
(1) Increasing population

(2) Incapacity of the individual

© (3) Unfavourable physical conditions

(4) Maldistribution of wealth
(6) Question not attempted

“Prevention of
Corruption Act” was enacted ?

(1) 1962 (2) 1974

(3) 1978 (4) 1988

(5) Question not attempted

-Which daY' is celebrated as ‘World

AIDS Day’ 7
(1) April 18
(3) October 4

(2) September 19
(4) December 1
(5) Question not attempted

\é\:;to Suggested that to eradlcati
hotﬁfm inter-caste ~ marriag®
(1) y be made more popular ?
@) & °9endra Singh

(3) ™ S. Ghurye

4) K N Srinivas

(5) QlJesKapadla

tion not attempted of
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50.

51.

52.

53.

01

% atam L.

T 5 THR Y e B ot 7
(1) SForRemm . (2) swerriom
(3) e (4) TemEEm
(5) orgwf wm

s srgem “wnt g 1 @ e 2
3R W ) R ) o sy s | e
T TSI g % Sr-ary ke
AT H R” 7 '

3) AfFe=R . (4) @R

(5) Irgeia s

(.. 7 3 7w |

-1 1 -1l & e 6t e gl
= o T His HT IR H FE W H
TR |

lal gl

A. TH- >/(i) =8

B. atef (i) ¥

C. %™ \(iii)ﬁﬁlw

D. e —(iv) 3

aﬁg: : N
() @) @) (i) () '

@) (i) @v) (i) (@)

@3), iy @@) @O W)

@) (i) () (@v) (i)

(5) Ll

g 3ol w1 garga o (fesT) Tl A S
27
(1) ST (2) 5b=

(3) I (4)-TIg

(5) FFaRa 3

19

50.

51.

52.

53.

In which ashrama was there ‘an
arrangement to repay Dev Rina,
Rishi Rina and Pitri Rina ?

(1) Vanaprasthashrama

(2) Brahmacharyashrama

(3) Grihasthashrama

(4) Sannyasashrama

(5) Question not attempted

According to whom “Religion is a
mode of action as well as system of
belief and a sociological
phenomenon as well as a personal
experience” ?

(1) James Frazer (2) Durkheim

(3) Malinowski (4) Tylor

(5) Question not attempted

(According to P.N. Prabhu)
Match List-l with List-ll and select
the correct answer by using the
codes given below the lists :
List-1 List-11
A. Dharma (i) Desires
B. Artha (i) Wealth
C. Kama (iii) Morality
D. Moksha (iv) Salvation
Codes :
A B C D
)y @ @) (i) (v)
(@ (@) () (i) O
@) (i) @@ O @)
@) (i) @ @) (i)
(

5) Question not attempted

Which Varna is not regarded as
twice born (Dvija) ?

(1) Brahmin (2) Kshatriya
(3) Vaishya (4) Shudra
(5) Question not attempted -
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54. ey ofomf e, “ohgr a=gi 6

55. I ST HGER 7 ok $' ¥

56. i wATE i FHRT % R TR I

57.

(1) .. wuafen (2) 3 e

~ (5) HAgaid v

W@W“ﬁwaﬁm@naﬂﬁﬁg
eite &9 & R o e o e @
‘Tﬂ’ﬂﬁﬁ@'ﬂlﬁ'%”?

(1) BPEREIT (2) witg wd ot
() TETEER  (4). fifv wd e
(5) STFTRA w7

9 4 foren uftnfya R 2
(1) .2, =ie "
(2) T A, e
(3) = forewm |
(4) #mie 3. fents

(5) FqefEwE

e’ & Riguia % w Ree 4 7
(1) T &, Momegeht
(2) Tt $. feis
(3) . €. =@IEe

(4) T wmm

(5) e A

gt |

3R TEu} ) g Sied 3 YT HEH
HAeHagend” 7

(3) T fed  (4) ¥ T

—— T——

20

54.

55.

56.

l 57.

defined, “The family ;
haSﬂ ned by @ SeX relatjg 8.4
grouP

who hsh
fly precise and endurinshlp

sufficie™ % " the

©  of children”?

procreation a;g

4) Gillin

(5) qQuestion not attempted

who deﬁnéd Public Admi”istration
as ‘What and HOW of Government 7

(1) L.D. White

(2) Robert T. Golembiewski

* (3) Woodrow Wilson -
(4) Marshall E. Dimock
" (5) Question not attempted

Who coined the theory of ‘Locus and
Focus' for the nature of Publc
Administration ’?

(1) Robert T. Golembiewski

(2) Marshall E. Dimock

(3) LD. White

(4) Herbert Simon

(5) Question not attempted

Who has defined, “Marriage is &
nstitution admitting men and wome”
Nto family Jie o

8) K:M. Kapadia

(3) E. Bogardus

( 4; :-R- Rivers

(5) Q"We§termarck
Uestion not attempted i
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8. “wymd w W wEt W@ qw e

59.

60.

(o) s

01

Futfa siwat 6 wify son 27 - 98 fra
3= @t gwtar @ 2

(1) i e 351 et g
(2)- T ST 1 GhiHd g
(3) Eeh e 1 s G

(4) e s v e R
(5) mm

A I TR F Rras TR ST S ?
15 2) 3
(3) 4 4) 7

(5) IAgaRd I

“f1 <" hY SFEUTT F G
feam 2

(1) R
(2) ¥ HE
(3) fE o
(4) TR 3fas [‘ﬁ
(5) FFaRa T

e Il % IgER, 9w
Tl % H gnad 6l FH B T HA F
oA Hi = FeheqaT TEga i T off ¢
(1) Frsfiwt o
(2) FAaT-gaTeHTa
(3) Fhm gl
(4) Sepra ST
(5) Igaia I

£

21

58.

59.

60.

61.

() 4

“Administration has to do with getting
things done; with the accomplishment
of defined objectives” — This reflects to
which approach ?

(1) Narrower view of public
administration

(2) Integral view of  public
administration

(3) Wider view of public
administration

(4) Managerial view of public

~ administration
Question not attempted

(5)

How many types of authority did Max
Weber describe ?
(1) 5 (2 3
4) 7
(5) Question not attempted

Who suggested the concept of
“Gang Plank” ?.

(1) Luther Gulick

(2) Henri Fayol

(3) Max Weber

(4) Lyndall Urwick

(5) Question not attempted

According to Minnowbrook
Conference Ill, what concept was
introduced to address the lack of
coordination among government
institutions ?

(1) Privatisation

(2) Inter-operability

(3) Artificial Intelligence

(4) Bureaucratic restructuring

(5) Question not attempted
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162,

63.

F g @ TR Weushy nfafafEt

'POCCC HM® ‘C’ wi i ysg a2 7

(1)-HHTUS (ITTe <)
(2) wgret (Fee)

(3) BT (FH=)
(4) FERHIA (W9R)
(5) TITRG A

ifriron < SerReh’ T freh g
dmEeft ?

(1) T s

(2) el geian

(3) T TwETH

(4) ST FHAIT

(5) Fgaia S

ftifera § & ‘o W HifeawH Iwih
AEH DA ? |

NOEE L

65.

(2) ST HHRITR
(3) Fometwa. o
(4) Term iR

(i) THF (iv) ©IH
5 Ry mu wie § q W IA P T
i ;

(1) (i) 3 (i) et

(2) (i) 37 (jii) Here

(3) (i) 3 (jii) et

() (i), (i), (iii), (iv)

(5) TG A

22

62.

63.

64.

65.

E (2) co

ial activities givg
an eria n
n the "‘L 4t is. the full form of
ol, P
Comma”d

ntrol
ordination

t attempted
e ‘ERG’ theory ¢

(5) Question no

who proposed th
motivation ?

(1) Vietor H. Vroom

(2) Frederick Herzberg

(3) Clayton Alderfer

(4) Douglas McGregor
(5) Question not attempted

’Who among the following is the
~author of the book ‘Work and

.'Motiva_tion’ ?
~ (1) Abraham Maslow

(2) Douglas McGregor
(3) Victor H. Vroom
(4) - Chris Argyris

~ (5) Question not attempted

Which of the following are factor
that affect the ‘Span of control’ ?

() Function (i) Personality
(i) Time " (iv) Place
Choose the correct answer from the

- Codes given below :

(1) (i) and (i) onl
(2) (i) and Eiii)) om};
) (ii) and (iii) only
@)@, iy, (i, (v)
(5) Question not attempted
o1
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66. T U, grgma Y frolg-fmfor 6 wien #,

67.

68.

69.

01

(2) T IR

o 8 @ )7 wr o e Tl fean o 2
(1) =g whwn

(2) tfierey wiwan

(3) === wisean

(4) Iy vk

(5) gaa ¥

R % g wimm & ygeft a) “aR” 6
ST <l S T T & 7
(1) = 1 THEETR S
(2) oEed ® aREAE
(3) - gfew™

(4) =T 1 SfewH=

(5) ITaRa S

ey 3 @ a1 T e & T
e GER SR (ARC) % Sfdeti |

aftrfera =gt o 7
(1) wa

Srferftga A BN A A EE G
e 31 g % AET 3R Y AT ¥
sarqme 7-S AATER 7

|
|
(1) e (@) (2) = (Ricta) |
(3) oeft (wEe)  (4) S (fened) g
(5) ITgaied ¥ !

23

66.

67.

68.

Herbert A. Simon did not include
which of the following steps in the
declsion-making process 7

(1) Intellectual process

(2) Design process

(3) Choice process

(4) Research process

(

(5) Question not attempted

In which model of communication
was the concept of “Noise”
introduced for the first time ?

(1) Berlo’s SMCR Model

(2) Lasswell's Model

| (3) Shannon-Weaver Model

(4) Schramm’s Model
(5) Question not attempted

Which one of the following was NOT
a main area covered in the reports of
the First Administrative Reforms

“Commission (ARC) ?

69.

(1) Railways

(2) Postand Telegraphs

(3) Higher Education

(4) Life Insurance Corporation
(5) Question not attempted

Which of the following is not one of
the 7-S's suggested by J.B. Watson
to explain the difference between
management and leadership ?

(1) Strategy (2) Selection

(3) Style (4) Skills

(5) Question not attempted
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el |

, ' ort of the SecOnd
70. ot SemERF GER SR 3 o feg ( 70. I whioh ReT:zeforms Commission

FiceeT & $-rae Y SrauReTES g Adminiig:ﬁve structure
T T e AT % wY-Ey e °°8‘§32mance and tgek Nationg)
Sary &1 faem e g ¢ & Governance Pan and knowledge
} e- e ent has been discussed 2
(1) Maiwfode  (2) zwat sfeaen rr11a Ninth ReP L
(3) TEa! wiodet (4) wmgat wRaE (2) Tenth F::%C; B
' 3) Eleven
(5) IaiE I §4; Twelfth Report
: not attempted

71, swA, sfufEm € W @ o | 71, whioh section of fhe RTl Ad
' ) suo moto (proactive)

EIEEIsE s REa el : dates H
(STTEEHRE) Y 3?&31&?1%?;.? T fﬂ:;ogfre by public authorities ?
' ' (1) Section 2(h)
(1) &0 2(T9) (2) arr18 - (2) Section 18
(3). T 4(1)@E)  (4) U 25(5) ~ (3) Section 4(1?5(;0) :
' (4) Section 25( |
(5) A e ‘~ (5) Question not attempted

72. WUW TEEES GUR WM (ARC-) 3! 72. In which Report did the First

frg OE § deae 3R AeEw ~ Administrative Reforms Commission
| (ARC-I) recommend the setting up of

el <t e 61 R b e 2 ‘the institutions of Lokpal and
(1) e (L%ka%/uktas ?

ST 3 eport on District Administration
@k “Hig e e (2) Report- on  Citizen-Centric

e (3) “qrrieet @ RreEar % FEwer i Governance
@ et R e - (3) Report on  “Problems  of
! S ' Redressal of Citizens'

- (4) e 3 HMerehan o R Grievances”
(5) IrgafEa g (4) Report on Ethics in Governance

() Question not attempted

73. G % ug % G H1 FE TR | 73. The creation of the office of the

(4) Inter-State Council
() Question not attempted

P B ot 7 | | tLh°ekpa| was first recommended by
(1) T gfera ST (1) National Police Commission
(2) T ke ST o 2) States Reorganization
= ommission
(3) e ST G 3T | () First Administrative Reforms
(4) I afteg | Commission
|

(5) FgaNa T

:.\ y
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14. ELRIE
(1) IR Frag
(2) T fre
(3) FreTerfe e
(4) et fam
(5) AT e

75, FIEA Y I SR ¥
o) TR
(2) e e T T E |
(3) F A Rdm @ El
(4), ot G0 o 7 e S W faf
FHEAE T § |
(5) TgaRa w

76, AR FA 2
(1) ffae (2) o
(3) ufemw (4) €=
(5) FAERAIT

. rﬁm%ﬁmﬂﬁﬁaﬁm%

£ 1 (2) el 9
3) ek
() s
(5) Irgaia =¥
01 |

25

74.

75.

76.

77.

78. .

Rit is not

(1) An eternal law

(2) An universal law

(3) An inexorable law

(4) A legislative law

(5) Question not attempted

According to the ancient concept of
Rinatray

(1) Rinas are optional.

(2) Rinas are non-repayable.

~ (3) Rinas enjoin certain duties.

(4) Non-repayment of Rinas may
invite legal action against
defaulter.

(5) Question not attempted

Apara Brahman is .

(1) Indeterminate (2) Unqualified
(3) Determinate (4) Infinite

(5) Question not attempted

According to Geeta, Nishkama-

karma implies
(1) Renunciation of action
(2) Renunciation of the fruits of action

(3) Renunciation of the desire of

fruits of action
(4) Purposeless performance of action
(5) Question not attempted

The Nasdiya Sukta, concerning the
Origin of Universe, is found in

(1) Mahayan Sutra

(2) Bhagwati Sutra

(3) Vedas
(4) Bhagwad Geeta
(5) Question not attempted
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aftirfera 7€ @
(1) sf=

(2) s

(3) wiw

(4) quIRy

(5) IOl ww=

80. wHieF M A wrad

81.

82.

(1) TR ¥ W e & w6
TR T IRET sHiamy |

(2) e et & e o smERR G & |

(8) SR TR

(4). SR T R, 319 TR g @
ST Hhell 7 | o

(5) g s

HUa ! Tgfa geaa: Tt st 2
(1) SR ‘

(2) HATIEAW e R
(3) S FH FOTA W EE
(4) WIE B W '

(5) ITgata v

S e % AR, 9o HH-GTE AT
(1) =

2) =

(3)-gf

- (4) Imm

(5) rgaRa s>

I 79.

80.

81,

TS TS S ————— TR Y T — rr———

N
(=]

(3)

82.

Buddhist eight—fold path Ieading t
liperation does notinclude :

(1) Conduct

(2) Knowledge

(3) Devotion

(4) Meditation

(5) Question not attempteq

What is correct about Gandhig
philosophy ?

(1) Gandhi introduced the concept
of truth in Indian thought,
Gandhi alone  was
practitioner of non-violence.
Satyagraha presupposes non.
violence.

God is truth, therefore an atheist
may adopt violent means.
Question not attempted

(2) the

(4)
(5)
The Socratic' method primarily relies
on: '

(1) Lecturing

(2) Storytelling
(3) Dialectical Questioning

(4) Group Meditation
~ (5) Question not attempted

According to Jainism, when karmic
Particles actually begin to flo¥
towards the soul, is called as
(1) Ashrva
(2) Nirjara
(3) Liberation
(4) Agam
(5) Question not attempted
01

A

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k
https://t.me/rsgonline

83.

84.

85.

86.

87.

01

ﬁ%ﬁ 5 J

e it
ﬁﬁl?lumﬁa . T gEsheH
(1) S.ww. firg 2) S
() Ry (@), e
(5) Igaia wer
TS SRS 3 s & 7
(1) Q—W.ﬁlﬁ (2) AT
(3) %‘Iﬁﬁaﬁaﬁ (4) HUE
(5) SATORT T
102 % AR, F § A @ A
HgEaa TR 7
(1) TEH AR -

(2). TS T IS TP
(3) ATCHT <hY AT
(4) Hepeq hY T

' 83.

84.

85.

86.

Who of the following philosophers
proposed Hedonistic Calculus ?

(1) J.S. Mill (2) Bentham
(3) Sidgwick (4) Kant
(5) Question not attempted

Who is the propounder of qualitative
utilitarianism ?

(1) J.S. Mill

(2) Bentham

(3) Henry Sidgwick

(4) Kant

(5) Question not attempted

According to Kant, which one.of the

~ following is not a postulate of

morality ?
(1) Existence of God
(2) Man’s emotional nature

(3) Immortality of Soul

(4) Freedom of Will

, (5) Question not attempted

Freedom of Will is inconsistent with
(1) Capacity to act

"~ (2) Knowledge and purpose

87.

(3) Presence of alternatives

| (4) Fatalism

(5) Question not attempted

Who of the following is associated
with method of Doubt ?

(1) Sidgwick (2) Descartes
(3) Rashdall (4) Aristotle
(5) Question not attempted
| (n |
|
2 »
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88. =few o ol wrafRma R

89.

90.

91.

'(A)Hmmﬁﬁﬂﬁwﬁqmﬁa;.

(1) .. T | (2) g

3) A - (4) Yum. Pwd
(5) Igalia uw

wft vyt i Prea, RfSps, sea @
Mm\w%|

(1) &
(3) s

(5) FaRa ¥¥

A wmhen R B sl & AR A @
wFfums:

ot & ot v S 2 |
(B) wrereh o forwar g, qut Wt
¥ T Iuh gay o Sa Tt @
el ® | | f
fmfiiad Reed f a MA@ aE 2 ?
(1) (A B)INFATI .
@ (@ @)
(3) (A) T 2, 7eg (B) FEA T |
(4).(B) a2, G (A) AR |
(5) Igatd 5 |

avg ¥ whRurcas fagra o I A
R 7 |
(1) wfersmer ST

88.

89.

'90.

91.

(5)

(1)

intellectua! midwifery is associatg,

ith .
‘(’:I) M.K. Gandhi (2) Socrates

3) Aristotle (4) J.S. Mmil
Question not attempted

The __purusa is the etemg
inactive, immobile, and immutabjg
self of all.

(1) Kshara - (2) Akshara

(3) Brahma (4) God

(5) Question not attempted

Two statements are given below
"about the nature of social science :

(A) Social science subject draws ts

contents from several social
‘sciences.

(B) Social science subject deals

their relations with
their

with man,
other men
environment.

Which of the following options i

correct ?

(1) Both (A) and (B) are true.

(2) Both (A) and (B) are false.

(3) (A)is true, but (B) is false.

(4) (B)is true, but (A) is false.

(5) Question not attempted

and

- What is the main objective of the

deterrent theory of punishment ?

To take revenge

To rehabilitate the criminal

To discourage both the offendef
and others from committing crimes

()
(3)

(4) To reform the offender
(5) Question not attempted "
4 A
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92.

93.

94,

01

- B G HeE GRS
ﬁ%?‘“‘ﬁm%maﬁﬁﬁw
(1) % w22 2 e s e 21
(2) %I % frgves o1 g wr |
(3) 3% Tehn 3 A e R |
(4) & I sreihes w9 s R |
(5) FRA w1
TEESY T DM AT SIFH AT IR ?
(1) JHFHTT3UTH
(2 idferr 3arm
(3) forweres Sur™ -
(4) ffye savm up
(5) I 5
arfepra wipen gr Feii 3 @S
T SN a4 W 8 | S Tt |
3 g, <@ whwan & e 33 5
AR AR
(1) FET
(2) @A
(3) =TT
- (4) g
(5) FFARA =

' 29

92.

93.

Which of. the following . statement
IS not correct about the importance

of _correlation in social science

subject ? 4

(1) It makes the facts easier to
understand.

(2) It realises the fragmentation of .
knowledge. B
(3) It reduces the burden of

curriculum.
(4) It provides practical application
| of knowledge.
(5) Question not attempted

If a teacher is explaining the topic

. .‘Consumer Awareness’ by involving
.. concepts
"~ mathematics and language, which

- from economics,

approach of correlation is being

. applied by him ?

(1) Segregation approach
() Interdisciplinary approach
(3) Disciplinary approach

(4) Diversified approach

~ (5) Question not attempted

94.

'Students

the

democratic values the
teaching-learning process in a social

conceptualizing
through

“science class. According to Bloom

taxonomy, Which of the following
objective is fulfilled in this process ?

(1) Receiving

(2) Organization
(3) Synthesis

.(4) Evaluation

(5) Question not atte‘mpted

’
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95.

the following i
. ~ which Of g is not 4

Prferfa 3 @ 7 a1 e g R | 95 advantage of problem solvinn

1 Th A T R ? ‘ethod ? g

(1) =& e flg wife e (1) It develops the power of criticy

 warg | judgement.

o) g e gt ww, | (@) 1t TOOUTeS 100 Much reforenc

/W : iy material, museum, library ang
MRS N different types of information
, o ! centres.

3) @i il § wgw w fmerd (3) It tends to develop initiative ang
fasfmedial . responsibility in students.

4) = foafE § g W @ (4) It develops the traits of open-
mﬁﬁm%ﬂﬂﬁﬁ%ﬁ‘éﬁﬁl mindedness and tolerance in
et students. |

©) m * (5) Question not attempted

(5)

gt fome 3 e ¥q wam & @ | 96. Which of the following are not the

TN 9l guiea  AEfn fafr + characteristics of the ‘Formal group

AR e @ S N & ) plan’ among the various forms of

S iy EN o v & & 7 social recitation method used for

e : teaching social sciences ?

() WEIH : ﬁFIT%’Eﬁ' ¥ (a) In this form, students can freely
FH FER AR SE b m{v?r _express their ideas and
IEHEHFERAE | suggestions without need of any

(b) % FHald BIg e m’" Tl ~ permission.

A2 | v (b) There is no systematic plan in
s ‘.l:
: : this.
fyeeft Frorifea qrenst W == Hd |5

©) %I “(c) Students discuss the determined

problems. _

(d) Fremeff FfEEd Pt % g (d) Students take action according
HaTE & | to the fixed rules.

H@{EWWW : Choose the correct code :

0 @wb) @ OTE (1) (@) and (b)

a (2) (b)and (c)
@) @@ @ @) ! (3) (c)and (d)
(5) ARG T | (4) (a)and (d)
| (5) Question not attempted o
30 ‘
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98.

99,

01

g R, S & e

A S, Tl et
3wy § | |

(4) T, qon el A e 2 |

(5) ITEww

Th NOTFE wHEl frpei fi i
T 1 T F Y o o @y, W]

LT TEH Tl % v § PR o
A ETE % I § TEHR T ST HT RT 7
(1) SRofEe

(2) %iﬂamaﬁ_

(3) day (freremim)

(4) =it

(5) EWW -
W@mﬁ%ﬁﬁﬁﬁ%ﬁmﬁ?ﬁﬁ

gga o & R s
ST @ 3R i
Wﬁﬁmﬁqﬁmﬁiﬁ@mﬁ

e
2, o feemefi

Frefaror ¥ wETI GieH & fe g |

97.

98.

99.

According to the Edgar Dale’s ‘Cone

of- experience’, which one of the

following statement is correct

regarding the teaching aids ?

(1) Still pictures are more effective
than exhibits.

(2) Demonstrations are less
effective than motion pictures.

(3) Contrived experiences are more
effective  than dramatized
experiences.

(4) Television is less effective than
the visual symbols.

(5) Question not attempted

A teacher is planning to explain the
internal structure of the government
bodies, she/he should use which one
of the following kind of chart as
instructional support material ?

(1) Tabulation

~(2) Organizational

(3) Relationship
(4) Classification -
(5) Question not attempted

When a social science teacher asks
students to find solutions to pollution
control, the students give
suggestions and the teacher makes
a list on the blackboard and then
summarizes all the arguments
emphasizing the importance  of
pollution control.

In this case which method is used by
the teacher to teach the lesson on
pollution control in the class ?

- (1) Problem Solving

(2) Brain Storming

(3) Social Recitation

(4) Project

(5) Question not attempted
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100.mﬁ$ﬁmﬁ1ﬁﬁmﬁaﬁ

101.

STEIHAT = Bt §
(1) FRMRT ST %0 % R
(2) gﬁhﬁwﬂrﬁaﬁwﬁ%
(3) Tt & sivigia wwg o fovd
TYAT T 79 g w5 § geE
FHF foR
(4) T T AT FW F R
(5) FART e -
ﬁ‘:nj # fr=feRea fieor-
I AEBET H T e ¥ few
$ifs |

Rrgror- e Iov
qraH7 |
(a) <= () wes %
g9 Sl 99y
Kuciie
' (b) wfem™ (i) ofr W
v feufa o
(c) Fa-om@ (i) TEHTGHIBR
, -~ HATRR T
(d) remgHEEE . (v) WO ERGE
eI reR D
]
R
(@ (b) (c) (d)
(1) @) (v) (i) (i)
() (i) @i) (@v) ()
(3) (@v) (@) (i) (i)
4) (i) @iy @@ (v)
(5) I S

[

32

100. WhY

101.

Teaqhing-Learning-

(a) Globe
~ (b) Model

- (¢) Pie-graph

are the _huma_nistic Quaii

* eeded for @ s0Cial science teacherevS
o reduce workload -

(;; To ensuré scientific EXperiments
in class

@3) To help students grow Wit
the feeling of Internation,
understanding  and
solidarity

4) To memorize facts easily

(5) Question not attempted

Worlq

Match the following  Teaching.
Learning materials of Social Sciencs

with their purpose :
Purpose

Material

(i) to show

relationship of

time with

events

to show the

land masses

in proper

positions

(iii) to showa
large object
a reduced s

(ii)

() Chronological (jv) to show the

- (4) ¢

chart Component |
part of awhoP
Codes;

@ (b
(1) G 2
(2) (i)
(3) (iv)

(c) (d)
(iv) (i) (i)
(i) (iv) ()
i (i) (i) (i)
Gy @) (iv)
() Question not attempted 0!
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103.

104,

01

ﬁ(@.ﬁ. %.) 2005
SN .
8 et
ﬁﬁ?ﬂﬁaﬁ%m REERCEIEICRD |
(2) B9 % sftver % o e e 5 0
- VI8 W iy st @) wern s
=R |

(3) WiTwr Fww ¥ why sy

T TrhfRa w1 g it wgrn WL

iRy |
(4) TSty fomm & wrdlm dfam %
RIS IUR W e fear Em
amfge | - |
(5) Irgaia A :
Pt 3 & @ an i Frm A
FEATH ChaH L ?
@wg@mm
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102.

103.

Which statement is not recommended
by National Curriculum Framework
(NCF) 2005 for social science at
secondary level ?

(1) The learners should be initiated
into a deeper understanding for
the social and economical
challenges of nation.

Instead of world’s history, India’s
rich and varied past should be
taught.

Geography should be taught for
critical appreciation for
conservation of environment.

In political science, the focus
should be on philosophical
foundations of Indian
~ Constitution.

(5) Question not attempted

(2)
(3)

(4)

Which of the following is not a

component of unit plan of social
_ science ? '

R
@
53 o

@)

Division of sub-units
Formation . of
questions
Determination of
objectives

Teaching methods and materials
related decisions

‘Question not attempted

introductory

instructional

(5)

. Social sciences curriculum should be

correlated with the past and the
present that will enable children to

understand their environment. This
principle of curriculum construction is
directly related to which one of the

following ?

(1) Integration |

(2) Learning by doing

(3) Flexibility

(4) Motivation

(5) Question not attempted
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105.ﬁwi%«riﬁaﬁﬁaﬁqm%m£,3ag

106.

107.

W—WMﬁmﬁﬁmqﬁ%?
(1) &=

(2) SR

(3) wmE=fieor

(4)-feifdn

(5) Igaia ww=

fefaRes 4 @ 99 @ wor 57 T
TAHIH & & TaaY Ieeva Y iy
eI Bg ST T & 7

(1) JFIR A

(2) SR TH

(3) IeTTE (THRETAIA) A
(4) I I '
(5) 3raa I

ey

Frferiaa 3 & i a1 Hu g drem %
Teu A TR TR |

(a) T8 ZEERETE % fagidl W maiE § |

(b) TF 3HE F R ATUTOME Th-g&R
Q gefa gt 8 |

(c) Thi &t uren 2 6 Afg fwaagg
99 &9 § Ye 61 St 8, ar feremeff

e T ¢ |

(d) T8 AT TH TR AT HT SR
TR | ’

& e T =TI HINT :

(1) (a) i (d)

(2) (a), ()T (d)

(3) b)wW&(c)

4) (b), (c) T (d)

(5) STIIE I

34

105.

106.

107.

h of the following s Not 5

Wwhic . .
related to Herbartian g, step
gystem of lesson plan ? '

™) |ntroduction
2) presentation
3) Generalization

4) Reporting |
(5) Question not attempted

which of the following type
question is not suitable to evalyg,
the achievement of comprehensg,
objective under cognitive domain 7
(1) Translation Questions

(2) Interpretation Questions

(3) Extrapolation Questions

(4) Recognition Questions

(5) Question not attempted

Which of the following statement is

. not correct about unit plan ?

(@) It is based on principles of
behaviourism.

(b) The concepts are related to oné
another within a unit.

(¢) Skinners assumption is tha
students learn better, if t€
content is provided in a wholé-

(d) The lesson plan forms the bas®
of unit plan.

Choose the correct code :

(1) (a) and (d)

(2) (a), (c) and (d)

(3) (b) and (c)

(4) (), (c) and (d)

(5) Question not attempted
Lo 01

i
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109.

110.

01

(2) 9 H Wi 7
(3) mﬁﬁmaﬂm—wm

4TS TH W fwwm R i
m—a’@ﬁa}g:"
(5) IIaRa weq

e 93 % fov § Prsfafeg § @ @6

AHYTEE 2 ?

(1) %‘ﬁ'ﬂ‘ﬁﬂmlﬁmaﬂaﬁqﬂm
FrerareTs v F g T wfea |

(@,aﬁﬁﬁw%uﬁmﬁﬁmm.
Wmmﬁmmgﬁﬁ
I S -

(3) Frerurers YR % whewi #. Jua
TTich <hT AT TN & THIAT ST
2l —

(4) Freremers TR F T @ |
m@mmméu

(5) IFgeiid S¥A

Preffag & @ # & e wff
T Sl & e % o 3T
e ? |

(1) srfwfy g=ed

(2) wrifire wdied

(3), srfgfer arrft (9<7)

(4) sraeiEa TR

(5) sgaf@ ™

108. Which of the following is an example

109.

110.

35

of blueprint application in
assessment design ?
(1) Random selection of essay type
questions
(2) Choosing difficult questions only
(3) Asking students to create their
own test
(4) Mapping each question to
" learning objectives and content
areas :
Question not attempted

(5)

Which one of the following statements
is correct about the test items ?

= (1) Estimation of reliability index is

[

difficult in essay type tests.
" (2) In objective type tests scoring
| procedure is highly influenced
by the evaluator.
(3) Validity co-efficient is estimated
~ easily in essay type tests.
(4) Essay type tests can be easily
standardized.

(5) Question not attempted

Which of the foIIowing evaluation
technique is not appropriate for
evaluation of affective objectives ?
(1) Interest inventory

(2) Practical examination

(3) Attitude scale

(4) Observation technique

(5) Question not attempted
' (n |
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M. FefaRea i d s mreamadt &id 7

(1) dfes ow 1 S wrpfers wiFwmi & |

(2) dfew o A wgiaare vd UeheEaTg @
foam e ?

(3) Ffews wrer § wwvr Wyewar w1 ANE
H

(4). "I FQAH AT iR |

(5) TFTRT weq

112.aiaaﬁé:ﬁwﬁﬁwﬁaﬁqmaw

IEAE 7
(1) vﬁangaaham‘r&rﬁ‘u?ﬂaﬁgma’
SR s RgTa
(2) TETT T3 Sede A welwom el
IRY |
(3) W& §g I ¥W Wi F wemw
e ¥ ¥ AR @ T g o
wmm%mﬁam
feaman | '
4) aﬁamaﬁq’mwéwmﬁﬁ&
T I B FE AR |
(5) ITFaRE A |
113.ﬁ1={f%-1ﬁ§aﬁ@rmiﬁﬁaﬁr@q;{
mwmﬁmmﬁmgm%?
(1) geres
(2). wiue
(3) T
(4) g
(5)’ HATARE T

36

111.

112.

113.

(2)

Wwhich of the foIIowmg statement

?
ot correct
? 1) Natural powers are the Centrg

Vedic Religion.

(2) The idea of polytheism an
monotheism is mentloned
Vedic Religion.

(3) In the Rig Vedic period, Varyp,

is the nurture of morality,

(4) ‘Purandar’ is not a Rig veg,

God.
(5) Question not attempted

Which of the following fact aboyt

Buddhism is false ?

(1) Gautam Buddha realized the

principle of ‘Pratityasamutpads

in Sambodhi.

Mahatma Buddha came firstly

" Rishipattana from Uruvela,

(3) After attaining  enlightenment
~Mahatma Buddha gave his
sermon for the first time in
- Uruvela regarding suffering, its

causes and its solutions.

‘Dharmachakrapravartan’ is the

~hame given to the preaching

~ given to Brahmin ascetics.

(4)

(5) Question not attempted

From  which of ‘the followind
Archaeological site a dead body
buried in a wooden box is found ?
(1) Surkotada
(2) Lothal
(3) Rangpur
(4) Harappa
(5) Question not attempted

01

4
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114. NG T 3

@m‘@“ﬁﬁﬁwﬁmmﬁ

116. ﬁmﬁmﬁﬁmﬁ%{mﬁﬁﬁ?m

117.@qaﬁﬁaﬁ%ﬂﬁ%ﬂwﬁw€®

(3T q,s:;l‘q?{

(1) Turg
(3) ToT™
(5) TR woq

(2) forea
(4) m;

@Fﬁﬂﬁm .
A R I T e g |

B. 1 T () wom & s

o |
w2
(1) STATER |
(2) FITBEER |
(3) AIMBEHITAE |
(4) ASRBHITea # |
(5) g ST

mm—mﬁq‘é’f% ?
(1) FE=Ih

(2)- e

(3) wefeameTed

(4) e

(5) argared S

Frafagae ?
(1) T

W T

114. According to Buddhist texts, who'

115.

was Ashoka's

Prime  Minister
(Agramatya) ?
(1) Radhgupta (2) Tishya
(3) Kunal (4) Mahendra

(5) Question not attempted

Read the following statements about
Amaravati stupa and choose the
correct option :

A. ‘Ayaka’ pillars were installed in
the stupa.

B. The dome (‘Anda’) of the stupa
was decorated with marble.

~ Codes:

116.

117.

37

(1) Only A is right.

(2) Only B is right.

(3) Both Aand B are rlght
(4). Both A and B are wrong.
(5) Question not attempted

Which of the following texts written
by Varahmihira is not in Jatak-
Skandha ?

(1) Brihajjatak

(2) Brihatsamhita

(3) Brhadvivahapatal

(4) Brhadyaatra

(5) Question not attempted

Which doctrine shows intellectual
tolerance in Jainism ? '
(1) Pudgal

(2) Samyak Darshan

(3) Aparigraha

(4) Syadvad/Anekantvada

(5) Question not attempted ;
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118 ﬁﬂﬁ{ﬁaﬁﬁﬁﬂmwwww:

HRD T
(1) wgefism - grfigg
%1 afese
(2) TH g -  HagR Hwd
1 g |
(3) wiMTafeMe — a1 w1 feer
(4) FTETHES -~ gerE el
(5) AARd TH
/@Wﬁmﬁﬁwmﬁmaﬁa
(A) gaHigElee () 3w«
1670
(B) U= W - (i) TR
AR 1675 ‘
(C) Ramfi=idier (i) == 1673 o
1 G e L
(D) wamHfeE  (iv) =3 1675
ICETS i . -
(A) (B) (C) O
(1) @) (i) Gv) (i) 2 W
) @) (@) (i) (@v) gt
(3) (i) (@v) (@) (i)
@) (i) (@v) (i) @)
(5) I ST
Sy ¥ S T gt a1 Seoi@
FQ TS T T’ HIeA b THIHR
®HE 7 ’
(1) e fr () WRE
(3) TR (4) HUEF
(5) IeIia T

8. Choosé the incorrect pair among ty,

" following

Monuments Place

(1) Mosqueof  — Panipat
Kabulibag

(2) Palace of Turki — Fatehpy,
Sultana Sikri

(3) Nagina Mosque — Agra fort

(4) Naulakha — Allahabag
Palace fort

(5) Question not attempted

119.

~ select the correct option.

Achievements
(A) Second loot of (i)
Surat
(B) Possessionof - (ii)
Panhala
(C) Surrender of (iii)
Ponda to Shivaji
(D). Conquest of (iv)
. Satara
Options :
(A) (B) (©) (D)
(1) (@) (i) (iv) (i)
) @ ) (i) (v)
S (3) (i) Gv) () (i)
(4) @i) G@v) () ()

120.
“Chaitanya

thoughts of Chaitanya ?
(1) Jagannatha Mishra
(2) Ishwar Puri
(3) Murarigupta
(4) Karna Purak

38

Match the achievements. of Shivaj
~ with their concerning years anq

Year
October
1670
November
1675
March
1673
May 1675

(5) Question not attempted

Who is the author of the po_emh
Charitamrit” W

mentions the life and philosopfi®®

. (5) Question not attempted ol
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(3) HSTE Alde 1887
(4) =2 v 1904
(5) TG Wy

122.ﬁﬂﬁﬁﬁqmmﬁmm@
IR I
(1) #E %1 afywpr.
(2) Toreeht ot 5 aeqait 1 afesh
(3) THH L YA T EHR
(4)FHH TR BT SEEHR [ﬁ%

(5) ST T

1857 €. 1 ity § sy F dod F

frifipd o & SN 1A FEAE ?

(1) o T forfee & 38 7 I8
fefe T ge d |

(2) s (e ¥ e &0 <l
g @ |

(3) TR, 1857 §. 3 T # o T
1 e R R ST B

123.

T3 v | ' o

(4) aﬂﬂﬂ(‘ﬁ Fﬂgqa;gﬂﬁﬁ 3#*3‘aqT%F
et ﬁﬁ@mﬁeﬁl

(5) e

01

39

121. In which session did the Congress
present the demand for self rule in
its resolution for the first time ?

(1) Calcutta Session. 1906
(2) Allahabad Session 1892
(3) Madras Session 1887
(4) Bombay Session 1904
(5) Question not attempted

Which of the following was not a part

of Non-Cooperation Movemént ?

(1) Boycott of courts

(2) Boycott of foreign clothes and
gobds

122,

- (3) Boycott of payment of salt tax
(4) Boycott of government schools
- (5) Question not attempted

Which of the following fact is false
with reference to Awadh (Oudh) in
the revolution of 1857 A.D. ?
(1). The British were defeated by the
" rebels in the Battle of Chinhat in
Lucknow.
Henry Lawrence died
Lucknow Residency.
In November, 1857 A.D. James
Outram was made the
Commander-in-Chief  of the
C'ompany's army in India. |
Havelock of the British army that
came to. Lucknow from Kanpur

had died. |
(5) Question not attempted

123.

near

@)
(3)

(4)
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124. Fefafad & & g wifed 3w se | 1
% v weaTe 1 39 sida: Ry 1929

126, mmm%mam

A g & R 7

(1) =iz 1 =
(2) g T
(3) WY I
(4) TS FAR AN
(5) It s

F25] P 8 v i Yo & 9w

Q7

() Shfesaraer (i) <
(iii) weam e (iv) e
Hﬁ:ﬁtgﬁq: '
(1) (), (iii)

(3) (i), (ii)

(5) FaRa A

~(2) (i), (v)
(4) (i), (iv)

oA | REm R
A. mmﬁm@rﬁwwﬁﬁm

B. Wmﬁaﬁn@wmmﬁa

foram |

C. azqa?ﬁugmfrnﬁrﬁfﬁﬁﬁmﬁ

Afemait 3 +ft sgugeR fewan form |

D. et ot i e T

e & e T g |

e fw e e # & M A1/ FU T

8/3 7

(1) AsiiBE&Z |

(2) DRCHAE |

(3) A B, CHRi et &)
() FaaAIMDTAHE |
(5) IFaia v

40

124.

125.

- 126.

231

Which of the following revolutmnary
began hunger strike in Lahore Jai
and eventually died in September

1929 ?
(1) Shachindra Nath Sanyal

(2) Jatindra Nath Das

(3) Manmath Dasgupta
4) Barindra Kumar Ghosh
(5) Question not attempted

s

Er:-:'!‘.

S ol

Who among the following were
related to Chatagong Armoury raid ?
(i) Preetilata Waddedar

(ii) Shanti Ghosh

(i) Kalpana Dutta

(iv) Bina Das

Choose the correct answer :
(1) (), (iii) (2) (i), (iv)
(3) () (i) (4) (iii), (iv)

() Question not attempted

Consider the following statements
about Civil Disobedience Movement:

A. Protest against British monopoly
of salt.

B. This movement got internationa

- attention.

C. It was the first natnonahst activity
in which women participate
enthusiastically.

D. The capitalist class and
industrialists did not partlclpate
in the Civil Disobedien®
Movement.

Which of the statement/s give"
above is/are correct ?

(1) Aand B are correct.

(2) D and C are correct.

(3) A, B, C are correct.

(4) Only A and D are correct.

(5) Question not attempted
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127. FTH § 9w o B 3 @ fra

St % Ry wed % AR w R
BATYT ?

(1) FEfon srfufem
(2)_Ts srfufem
(3) VR ww

(4) Befas afuifem
(5) ARG WA

@ P 3 3 s e i o 1017 v
ITEATS TR hY T 6 7% oft 7
(1) Sefieaa - (2)
(3 deh (4) F
(5) JIgAE T

129, ‘Far= feaw’ ﬁwﬁmw%
(1) 24 9w |
(2). 23 9%, 56 firre 3 4 FvE
(3) 364 fem, 8 wwe 3fkt 26 fire
(4) 366 e
®) Fga T

130. mmmwmmaﬁ
ey 1 997 I :

A. guTEE 9 A 21 RS, 1942 =
ﬁn@ﬁmrémﬁwwzﬁreﬁl

B. g d i W g & 3
Hrgar & ferm AUST HEUAT & |
%
(1) FAATER |
HE (2) ST BEE R |
% (3) ATEBIRI TR
(4) AwdBEHI T € |
(5) IR SR

l
|
I

[

01 41

127. The Boston maséacre in America
occurred during a protest against
. which of the following Act ?
(1) Quartering Act
(2) Townshed Acts
(3) Stamp Act
(4) Green Will Act
(5) Question not attempted

128. Undér whose leadership among the

following the Provisional Government
was established in Russia in March
1917 ?

(1) Georgy Lvov (2) Kerensky

(3) Trotsky (4) Lenin

(5) Question not attempted

The ‘sidereal day’ has a period of —
(1) 24 hours
(2) 23 hours, 56 minutes and
4 seconds
(3) 364 days, 8 hours and
26 minutes
- (4) 366 days
(5) Question not attempted

129.

Consider the following statements
and choose the correct option :

A. Subhash Chandra Bose
established a provisional
government in Singapore on 21St
October 1942.

Subhash Chandra Bose’s Indian -
National Army . hoisted the
Tricolor flag at Moirang.

Codes :

(1) Only Ais right.

(2) Only Bis right.
~(3) Both AandB are right.

(4) Both A and B are wrong.

(5) Question not attempted

130.

}
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131 P i B % s | 191, On the basis of VOIS of g
I""I%lﬁﬁaﬁﬁﬁﬁﬁ?m%ﬁﬁlﬁ? following ~ seismic  Waves  whjg
oy mong the following is/are Corregy,

A P-STH - waifrs .

matched ? .
B. P*-S* aﬁ - W‘Tﬁ{ A. P - S waves - MaX|mUm
C. p ~ velocity
T8 Sgaﬁ = Frerm fy B. P*-S*waves — Medium
ﬁﬁQﬂQWﬂﬂmmg@mm velocity
= HI | C. Pg-Sgwaves — Minimum
xe h rrect an;/v(\ellgrC it{l’ i
Select the co sing
(1) AB3kC | codes given below :
(2) AT A Codes :
dC
(2). Only A
(4) B3iRC - (3) Aand C
(5) SreRa ¥ . [oik (4) Band C

(5) Question not attempted

132, Fffaa Fomt w frem it 3t 7@t | 132. Consider the following  statements

SRE T AR g ahifm: and select correct answer using
. e ~ codes given below :
A. YEoRE g ot enime 1 ] ©0%@
L _ . ~A. The equator is the longest

B. mft st # wwaE o el L pargye) |

YHeET A gai it 3 Fedt I 3 | - B. The length and distances of al
C. e 9Tl ) GIRIT WhEA S | | parallels decrease from equator

" el ' : to poles.

D, 66%4° TR ST Werhied w™e C. Parallels intersect meridians at
%2 ‘ : right angles.

D. 66%° south latitude is the

(1 )/ A B, C 3D Antarctic circle.
) A B alkC Codes :
(1) A,B,CandD
(3) B,C3RD | 2) A, BandC
(4) A,C3RD | (3) B,CandD
(4) A,CandD
(5) :ﬂgﬁﬁﬁ w3 | (5) Question not attempted
- ' 42 ol

| .. | -{A
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S A e
L

i o G —

133, fFefiio fFe woR & SaETHE w@
IETET 2 ?
(1) =
(2) R (wwdr)
(3). wfsrar /st
(4) g<
(5) IgARd w1

a we ferfeRr ¥ mzﬁsﬂiﬁ%

(1) EHvs A
(2) gemvsA §
(3) a%ﬁusaamgmﬁamsaﬁ
(4) INSHISH TUT FHATTUSH |

(5) IR A

e qgmwﬂﬂ HeH bl ﬁwﬁ-'fﬁaa
Wq@a‘raﬁzﬂ%mmﬁ
iR HifvT :

A. g

B. &

C. g™

D. fiesé
ﬁaﬁ@mwﬁnmﬁrmw

5 HIT :

%2

(1) B,A,C,D

2) D,A,C,B

(3) A D,C,B

(4) C,B,D,A.

(5) I ¥

[rﬁ

01

133. Kilimanjaro is an example of which
type of volcano ?
(1) Extinct
(2) Strato
(3) Active
(4) ' Dormant
(5) Question not attempted
134. The ‘Van Allen Radiation Belt' is
found at :
(1) lonosphere
(2) Mesosphere
(3) Exosphere and Magnetosphere
(4) Ozonosphere and Stratosphere
(5) Question not attempted

135. Arrange the following magnetic strips -
of Mid Oceanic Ridge in the
chronological order :
A. Gauss |

B. Brunhes

C. Matuyama

D. Gillbert

Select the correbt answer using
codes given below :

Codes :

(1) B,A G, D

(2) D, A C, B

(3) AD, C,B

4) C,B,D, A

l (5) Question not attempted

43

[

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k
https://t.me/rsgonline

136. 76 F 39 BR-2R il A 5 R §
T 19 ST T g o S ¥

aG R :
(1) sfemafe  (2) sfen
(3) Fem (4) femgfe
(5) TFuRa W
137. N H1/Q HH T G 5 F9 8@ &
T e oY 7R e AT /A E 7
A vavEt -
B. syl :
C. Uil T 3cHaur 5
R |
(1) et A (2) %@ B
3L AsRC  (4) AsiB
(5) rgaid we
138. &R S TRIGRT T 370 2T &
(1) 129w (2) 24w

(o

(3) 129w 26 fire(4) 24 wwe 52 firme

(5) 3IrFgaRa Fe

Prrfefa e o0 e iR Te wd

A. T F1 A0 @ W T R

fesm st mnf@ AT 2 |

B. ﬁ&mﬁﬁaw%mﬁﬁsﬂﬂ

et # gy e Rt B et |

C. HItATE o regi % o F

YT H Fgar g |

D. et grar sreoren sifres gty et <y

%
(1) A, B3afRC
(3) A,CamD

(5) Igaid g

(2) B,C3kD
(4) A, B, C3RD

. Th
136 and refre€zé on

A1) Sleet
2) Hail
(3) Mist
(4) snow fall

137.

139.

small ice pellets that

for )
e tefm their way down g,

(5) Question not attempted

. factor(s) causes the g,
g?eg:n to deflect eastward ne:
Cape Hatteras ?'

A. The Westerlies
B. The rotation of the earth

C. Upwelling force of water
Select the correct answer using ty
codes given below :

Codes :
(1) Only A (2) OnlyB
(3) Aand C (4) AandB

(5) Question not attempted

138.

The semi-diurnal tides recur at the
interval of :

(1) 12 Hours

(2) 24 Hours ]

(3) 12 Hours 26 minutes

(4) 24 Hours 52 minutes

(5) Question not attempted

Consider the following statements
and select the correct answer using
codes given below : .
A. The rotation of earth about i
axis affects direction of the win®
B. Due to Coriolis force WI
deflects to right direction
northern hemisphere.

. i in
C. The Coriolis force increasé’

direct proportion to the angle

latitude. il
D. The higher the pressure gré o

lesser is the deflection In

direction of wind.

Codes : 4D
(1) A,BandC (2) B,Can ol
(3) A,CandD (4) A, B,C?2

(5) Question not attempted ol

. 4
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140. s & FreAferfae # & g sy /& awi

1 aiafilar q=@ w5 urf ST R ?
(1) TTTRIvS qe FTR % TETg! &
(2) afvafi gorea™

(3) Ve

(4)¢ HRHVSH T

(5) FITRA I

Tr=feies § @ =9 @ wia &1 3q@ T
ITEH FA TR & 7

(1) TS — T HEH

(2) WEHE T |t

(3) T T WS AT S H1

(4) TENTY QA aiHTg T Bt g ¥
(5) STgaRd =T

142. vE § gt 70 @200 ¥, a6t Bt B

TP TR S T IR IACE ?
(Qmﬁﬁaﬁaww
(2) SoRiElT yaAs 9
(3) IERTeS Tl o
(4) wEdE A

(5) TR A

143, Freferfaa sl ® fem AR o g8

01

I 1 =9 1= YT e A AT -

A, TERE T 3UE] TR § |

B. fth g SR AT G W A& |

C. ‘gt &1 =dr fmrae R ITRETS
e i fRae !

D. saqsE Rt srwumEe femed |
afera g |

ETE
(1) A, B3RCadzg|
(2)B,C3mDTEE |
(3) Ha AR CHAE |
(4) Fa@ C D EE |

(5) ST S

45

140.

141.

142,

In which of the following part/region

of India the variability of rainfall is

found lowest ?

(1) Hilly area of Nagaland and
Manipur

(2) Western Rajasthan

(3) Ladakh

(4) Coromandel coast

(5) Question not attempted

Which among the following is not a

major sugarcane growing area of

India ?

(1) Satluj — Ganga plain

(2) Mahanadi river valley

(3) Coastal Andhra Pradesh and
Krishna valley

(4) Black soil belt from Maharashtra

(5)

to Tamil Nadu
Question not attempted

In India, which type of forests are

found in regions having rainfall

between 70t0 200cm ? :

(1)- Tropical Evergreen forests

:k(2) Tropical Deciduous forests
#(3) Tropical Thorn forests

—4) Mountain forests

143.

(5) Question not attempted

Consider the following statements
and select the correct answer using
codes given below :

A. Ladakh is a cold desert.

B. Harike Dun and Nalagarh Dun
are the largest duns.

C. ‘Valley of Flowers' is situated in
Himachal and  Uttarakhand
Himalayas.

D. Kanchenjunga peak is located in
Arunachal Himalayas.

Codes :

(1) A, B and C are correct.

(2) B, C and D are correct.

(3) Only Aand C are correct.

(4) Only Cand D are correct.

(5) Question not attempted

O

‘H“

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k
https://t.me/rsgonline

- 144. wgee ST-yfy & fafife & 3 997

- 145,

146.

3T/ - 3rrpTorat ot st /3 ¢
A 8% F T F wHR Hl wEd

(2) FTA
(4) ATaTC

(2) darre

(THTE)

B. ST-TYR I=-yfiaf

C. Sicad % Reve gats 91 517 et

9 few T Fe 1 9T F A I H

3 e

%<

(1) A, BN C & R

& b e

(5) rgaia v

1 €t TEE T A 1§ 6% o

fPmafedia 7

(1) &

(3) Ta . (4) s

(5) geia we= .

-1 = -1l & gafera Hifvme qer ad

IR A1 T A T T e & Hifvr

gl ol

(3417 wTTg) ‘(3737@17%—

ﬂa;)

(A) foo—TR < () s+wwRw
I we .
(B) fem = (i) ufganame

e\

(C) gmgeda i) wmtes
e
(D) foreré et
I~

(iv) sfreme

%l
(A) (B) (C) (D)
(1) (v) (i) (i) ()
(2 (ii)) (i) (i} (iv)
(3) (i) (i) (i) (iv)
(4) @) () (iv) (i)
(5) sgaf@ys

46

144.

145.

146.

Which ~ among the' followj,
topographical feature/s is/are foung

in the Shahabad Upland ?

A. Horseshoe type Hill (Ramgarh)

B. Dag - Gangdhar High!ands

C. Highest peak is 517 metres Neg
Chandwadi

Select the correct answer Using

codes given below :

Codes :
(1) A,BandC (2) Only A
(3) Band C (4) AandC

(5) Question not attempted

Which tributary joins the Sabarmgji
river from its right bank ?

(1) Sei ~ (2) Wakal

(3) Harnav (4) Hathmati
(5) Question not attempted

Match List-1 with List-Il and select
the correct answer using codes

given below :
List-1 List-1l
(Steel Plants)  (Location-State)
(A) Vijaynagar (i) Andhra
Steel Plant Pradesh
(B) Vizag Steel (i) West Bengal
" Plant
(C) Durgapur  (iii) Karnataka
Steel Plant
(D) Bhilai Steel (iv) Chhattisgarh
Plant
Codes :

(A) (B) (C) (D)
(1) (iv) Gii) (i) ()
(2) (i) @) (i) (iv)
(3) (i) (i) () (iv)
(4) @iy @) (iv) (i)

(5) Question not attempted
01‘

e’
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147. fefeafea 4 @ frm fe o Toeem &
TRE  HEEn  Rimqea A e
(SFOMT-2011) 7

(1) TR (2) W
(3) TR (4) S
(5) 3IrTid g
@%W%Wﬁﬁﬂﬁﬁﬁ?mw
TRIB 7
| (1) ot < T s # i fha
Mg | -
(2) foma wfy T s § e A
EicE S |
SR | | -
(4) SR hiaa IeATeA & arel 6 Afia
31 w1 TfafiReg et 2
(5) Jrgaia T .

149, Frda SR AR ? L
(1) s T (Mo) = e 3 3T +
aTleE ® UE S S+
RIS & I 3= T | N
(2) HeBIOl T (M) = el o T AT -
1 % wra Tt S + ST b
U 3T ST |
3) W%(M1)=W%mw_
F=i % g A FE — AT b

| 147. In which of the following district the

aTE 3 S | |
(4) S T (Mo) = e H 3T —
ARAAE F TE dR ST -
TS % T 3 S |
(5) IrgEeE SR

150, Freifaad & & I BT TSR 1 HEEEE
A EATE R ?
(1) St — sifegt & (sfierarsn)
(2) TAR IR AT & (HiehT)
(3). TTT 3 Rrvganet e (Redi)
(4) TTENTG & (T
(5) BEE] .

01

148.

(@)

e

- (2)

[ n r!ﬁ

150.

a7

urban population sex-ratio was
lowest in Rajasthan (Census-2011) ?
(1) Alwar (2) Dholpur

(3) Ganganagar (4) Jaisalmer
(5) Question not attempted

Which of the following statement is

correct about national income ?

(1) Capital gain is included in the
national income. o

(2) Capital loss is included in the
‘national income.

(3) Capital consumption allowance

is excluded from the national

income. ‘

Market price represent the

earnings - of the factors of

production. '

(5) Question not attempted

Which of the following is correct ?

(1) Reserve Money (M) = Currency in
circulation + Banker's deposits with
RBI + Other deposits with RBI.
Narrow Money (M4) = Currency
with the public Demand
deposits with banks + Other
deposits with RBI.

Narrow Money (M4) = Currency
with the public Demand
deposits with banks - Other
deposits with RBI.

Reserve Money (M,) = Currency in
circulation — Banker's deposits with
RBI — Other deposits with RBI.

(5) Question not attempted

(3)

(4)

Among the following which is not a

ini ite i jasthan ?

mining area of Calcite In Rajas

(1) Gghavria _ Chandpur area
(Bhilwara)

d Manvda area (Sikar) -

‘ _ ?
() Ratbura Pindwara area.

(3) Rajpura and
Sirohi) |
(4) l(\/ladhogarh area (Jhunjhunu)

(5) Question not attempted o
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